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JNDI & DataSource
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O Eclipse2t Tomcat92 H&5H0 Mysgl DB Connection
Pool &7
1. Eclipse 2| Serviers/Tomcat v9.0 Server at localhost-
config/contextxml It =&

<Resource
name="jdbc/MysqlDB"
auth="Container"
type="javax.sql.DataSource"
driverClassName="com.mysql.cj.jdbc.Driver"

url="jdbc:mysql://localhost:3306/sampledb?autoReconnect=true"

username= "xxxx"
password="Xxxxxxxx"
testOnBorrow="true"
maxActive="30"
maxIdle="3"
maxWait="3000"/>
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<resource-ref>

<description>DB Connection</description>
<res-ref-name>jdbc/MysglDB</res-ref-name>
<res-type>javax.sql.DataSource</res-type>
<res-auth>Container</res-auth>

</resource-ref>
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import java.sql.Connection;
import java.sql.SQLException;
import javax.naming.Context;
import javax.naming.InitialContext;
//import org.apache.tomcat.jdbc.pool.DataSource;
import javax.sql.DataSource;
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import java.sql.Connection;
import java.sql.SQLException;
import javax.naming.Context;
import javax.naming.InitialContext;
//import org.apache.tomcat.jdbc.pool.DataSource;
import javax.sql.DataSource;
public class ConnectionPoolProvider {
public static Connection getConnection() throws SQLException {

Context context = null; Connection conn = null; DataSource dataSource = null;

try {
context = new InitialContext();

dataSource = (DataSource)context.lookup("java:comp/env/jdbc/MysqlDB");

conn = dataSource.getConnection();

} catch(Exception e) {
System.out.printin("getConnection Exception”);
e.printStackTrace();
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return conn;

}
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Transaction Commit & Rollback
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Transaction Commit & Rollback
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Transaction Commit & Rollback

O auto commit S |

conn.setAutoCommit(false);
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conn.commit();
conn.rollback();
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conn.setAutoCommit(false);

Statement stmt = conn.createStatement();
stmt.addBatch("insert into table1 values('1,test)");
stmt.addBatch("update table2 set memo="test");
int[] cnt = stmt.executeBatch();
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PreparedStatement pstmt =

conn.prepareStatement(“update table1 set memo=? where num=7?");
pstmt.setString(1,'EHI 2 E1");

pstmt.setString(2,"1");

pstmt.addBatch();

pstmt.setString(1,"H A E2");

pstmt.setString(2,"2");

pstmt.addBatch();

int[] cnt = pstmt.executeBatch();




